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1. Letmt and w be two @qual vectors Inciined at an angle 0,then a sin = is equal to

c |—1Ia| d |+ 12

dx
2. [ 5 isequalto

a Idex “+4x+13)4c

1 -1 x+2
b Etan (3 )+c

c log2xix+d) +

2x+4
X2+4x+13))2

d

+c
3. The general solution v2dx + x z-xywz dy=0is
a tan * i-l-lugy+c=0

b 2tan’ §I+IOg;t+c=0

c log y+ +/x%2 +y% +logy+c=0

(d) sinh’ G)Hng y+c=0

4, f“; cosx — sinx)dx + f:fq sinx — cos x)dx + J';:q(cosx — sin x)dx is equal rto
a vZ2-2 b 2+2-2
c 3V2-2 da+Z-2

5. Out of 40 consecutive natural numbers ,two are chosen at random.Probability that the sum of the
number is odd,is

14 20
29 b 39

c % d None ¢ tthée

¥

2 2
6. Equation of tengents to the ellipse % +"T = 1,which are perpendicular to the line 3x+4y = 7,are
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adx -3y=++v20 b 4x -3y=++12

c 4x B3y =-: Vi d 4¢ 3y=:+1

“ — . 1 - - - > . > g EX
7. ulfiais perpendiculartoiwand i, | 12| =2,| 2| =3,| | = 4 and the angle between Iw and " is ?" , then

[::i';::»f] is equal to
ad 3 b6 V3

c12 V3 (d18 V3

. . T
8. The solution of the equation = = e is
dx
l 2% CX
ay==-e" " +— +d
4
by= -e™+cx+d

dl) v=%e'z"+cx3 +d

9. The value of f; —;-rl dx is

x<ix-1)
16 1 i6 1
e g
a log s e b log 5%
1 4 1
c 2log2 -2 d log 3"

10. The length of the chord of the parabola x’>=4y passing through the vertex and having slope cot o is
a 4cos acosec’o. b 4tan aseca
c 4sin asec’a d None of these

11. The records of a hospital show that 10% of the cases of a certain disease,then the probability that
only three will die, is

a 8748x10 b 1458x10°
¢ 1458x10 ° d 41x10 *©

12. From the point P16,7 tangents PQ and PR are drawn to the circle x *+y*-2x-4y-20 = 0.If c be the
centre of the circle,then area of quadrilateral PQCR is

a 450 sq unit b 15 sq unit
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13

14

16

17

18

19.

20

¢ 50 sq unit d 75 sq unit
b
. Iftan x = o then the value of a cos 2x + b sin 2x is
aa b a -b
cath d b
. In a triangle ABC,right angled at C,the value of cot A + cotB is
z
C
a = b aax
a* b*
¢ P ac

. If o, are roots of the equation Ix* + mx + n = 0,then the equation whose roots are o> § and o °

| “%*=-nlim?=-2nlx+n*=0

bl %+nim?=-2nlx+n’=0

C

I % +nim?=2nix -n*=0

d Il %-nim?*=-2nlx+n*=0

. The value of 2V/* , 4%/%  g¥/16 1g'/32
a3/2 b5/
c 2 d1l
; [i.] [21-1]is equal to
. 2 -1 -1
d Il] b -2 -1 1
- 4 2 -2
(c) [-1] d not defined
: (2x—-3)(3x—4) .
lim, ® 4x—5)(E2—6) is equal to
a % b oC
1 3
C :_; ({ 1_6

. Function f(x = {

x-1, x<2

Z2x — 3,

x=2

is a continuous function
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a forx=2only

b for all real values of x such that x #2

¢ for all real values of x

d for all integgral values of x only

21. Differential coeffitient of mis
a :».i; sec\/x sin\x
b -;E; (ec Vx)% .sinvx
c :::\ﬁ'secﬁ sin\/x
d %\Esec Nx ¥, sinx
22. The function x’-5x"*+5x-1 is

a neither maximum nor minimum atx=0

b maximum at x=0

¢ maximum at x=1 and minimum at x=3

(¢)minimmmn at x=0

23. ifx=y /1 — y*,then f:—i: is equal to

| 1-}2
x |
A-X ) 1+2y%
v "}E
C 1-2y2 d 0

a bl b -2

0|

25. The ratio in which the line joining 2,4,5, 3,5, -4is divided by the yz plane is

a 2:3 b 3:2

c -2:3 d 4: -3
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26. If the lines 3x+4y+1 = 0,5x+Ay+3 = 0 and 2x+y-1=0 are concurrent, then X is equal to

a -8 (b) & c 4 d -4

1x%+1 ]
27. The value of —fu - e dx is
1 b 1
a "53 41 - 3 1+4

1 1
C 33+4ﬂ: d ESn-d

28. The solution of the differential equation

dy . .
Y tan x — 2 sin x,Is

Y sin X = c+5in 2x

d
1.
b Ycosx= c-r-2~5|n 2X

Y cos X = ¢-Sin 2x

(o}

1
d Ycosx= c+5cns x

log2)* (log2)*

29. The value of 1-log 2 + > 31

a Idg3 b log2

d None of thhse

é 1
2

30. The maximum value of f[x = —

ryerT. Lo [-1,1] is

) 4

d

=

1
5

31. If the redius of a circle be increasing at auniform rate of 2 cm/s.The area of increasing of area of

circle,at the instant when the redius is 20 cm,is
a70 tecm’/s b 70cm */s

c 8ncm’/s d 80cm’/s

32. If PA=PB=3xand PA (, NB=PA’ MB’= %,then x is equal to

1 1
a 3 b 3

1 1
= d =
4 6
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33. The focus of the parabola y*-x-2y+2 =0 is

5 35
R
34. The equation of normal at the point 0,3 of the ellipse 9x “+5y* =45 is
a X -axis b y -axis

c y+3=0 dy -3=0

2 .2
35. The equation of the tengent parallel to y-x+5=0 drawn to :'3_ - -’2— =1is

ax -y+t1l=0 bx -y+2=0
¢. x+y-1=0 d) ++y+20

36. Let the functions f,g,h are definad from the set of real numbers R to R such that f(x = x*-1, gx

Y e _ (0 if x<0O
=/ (x 1 and hx = {x. if x=0"

Then hofog x is defined by

a X

b X

c O

d None of these

37. The angle of elevation of the sum,If the length of the shadow of a tower is \/3 times the height of
the pole,is

a 150 ° b 30 °

c 60° d 4s5°

n-1

38. If sin A = nsin B,then
n+l1

A+8
tan — is equal to

. A=-B A-B
a sin — b tan =

A-B
¢ cot > d None of these

39. 3tan" ais equal to

.1 3a+a*
1+3a*

a tan

L ]
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Ye—al
-1
b tan 1+3a

-1 3ﬂ+l’.‘3

1—-3a?

¢ tan

3a-a?
d tan * .
1-3a*

40. In which quadrant of the complex plane ,the point 'llT: lies ?

a Fourth b Fir st
¢ Second d Third
41. If sin o and cos o are the roots of the equation px*+qx+r = 0,then
a p +q%2pr=0
bp -q*+2pr=0
¢ p>g>-2pr=0
d p %+q*+2pr=0

d
42, Ifa,b,c are in the GP,then the equations ax’+2bx+c = 0 and dx*+2ex+f = 0 have a common ruot,if;

,-‘[ are in
c

- AL

r

a AP b GP

¢ Hp d NoneoftDese

. 1 . .
43. In the expension of 2x 2 —= 12 the term independent of x is

ag™ gz

th

c9™ d 10

44. The general value of 0 in the equation cosb = ;l"f LSanO=-1is

F
a 2n nig nel
Tx
b 2n:rc+-;,nel
K
C n m+ -l“i,nel

5
d nn+ -1“;,ne|
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45. IfA= l; _251, then A’ is equal to

a [® =
—3 12
? 5/11 2/11
3711 —-1/11
-5/11 -2/11
¢ lamr =1
8 2
¢ [z Sl
; x2+bx+4\
46. The value of lim, _, “"‘(xz:rans) is
a - b o
[
c ' 1 (d}%
sinax v 0
47. Let f(x =[ 5x if f(x) is tk continuous at x= o ,then k is equal to
g x—=
x 5
d g b ;
¢ 1 d O

48. If O be the angle between the vectors ii = 2i + 2j - kand 19 = 6i - 3j +2k, then
4
a cosB=37

3
b cos B‘TE

2
c cos B-H

5
N dt-,tﬂ'.'i H s E
491 kst e @i £ be vectors with magnitudes 3,4 and 5 respectively and i+ + % = 9, then the values
of MLio +10.5+E i is
a 47 b 25

c 50 d -25

50. The maximum value of z= 4x+2y subjected the constrains 2x+3y<18,x+y=10,x,y=0

L ]
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a 20 b 36

c 40 d None of these
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